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QUESTION 1

Which option is the page response for a PS paging request in 2G access?
A. service request with type "data"

B. service request with type "page response"

C. any uplink LLC PDU from MS/BSC

D. any uplink BSSGP PDU from MS/BSC

E. service request with type "signaling"

Correct Answer: C

QUESTION 2

Which option describes the ICAP protocol?

A. ICAP is a protocol designed to enable inter-device communications for different vendor systems to share information
about subscribers in a common format. ICAP allows for subscriber session control for actions such as session

disconnect and suspension.

B. ICAP is a protocol designed to enable subscribers to communicate in a peer-to-peer network for file sharing purposes
and is often used to circumvent upstream content filtering.

C. ICAP is a communication access package consisting of a mixed platform of services such as web, FTP, and
authentication. ICAP is used to minimize the deployment footprint and expedite new offerings for Internet service
providers.

D. ICAP is a protocol designed to support dynamic content filtering, insertion, and modification of web pages. ICAP
allows interaction with external content servers such as parental control (content filtering) servers to provide content
filtering service support.

Correct Answer: D

QUESTION 3

Which organization developed and maintains the Universal Mobile Telecommunications System?
A. 3GPP2

B. 3GPP

C.ITU
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D. ANSI

Correct Answer: B

QUESTION 4

Into which state does a UE in a GPRS network move after the ready timer expires?
A. idle state

B. detached state

C. suspended state

D. ready state

E. standby state

Correct Answer: E

QUESTION 5

In which three ways can a GTPv2 tunnel in each node of the UMTS/LTE network be identified? (Choose three.)
A. TEID

B. IP address

C. UDP port number

D. sequence number

E. negotiated QoS per PDP

F. negotiated QoS per PDN

Correct Answer: ABC
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